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Verwandle die Briche in Dezimalzahlen
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Verwandle die Briche in Dezimalzahlen
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13 =1,25 2=1,8
12 =1,625 20,56
2=2% T =56
T =1,416 T =283
> =0,36 175 =1,05

Verwandle die Dezimalzahlen in Briiche

o1 _ .5
1,25 = 14 1,625 = 135
= 1 = 7
4,3 = 43 1,7= 13
3 1
1,375 = 13 8,5 = 85
0,45 = 2 2,25 = 2,
24,8 m= 24800 mm
733000 dm = 73,3 km
6,24 dm? = 624 cm?
5980 cm? = 0, 598 m?2
68501 mm2= 0, 068501 m?
12,3cm®*=  0,0123 |
331 dl = 33,11
0,753 | = 75,3 cl
0,251 = 250000 mm?3
1,57 cm3 = 1570 mm?3

Verwandle die Dezimalzahlen in Briiche
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11 8
0,55 = 55 1,32 = 155
5,97 km = 597000 cm
38000 mm = 380 dm
9,22m?= 922 dm?2
4,85dm?2 = 48500 mm?
10779 dm2= 0, 010779 ha
7934 cm?® = 7,934 |
16,1 m = 1,61 cl
9450 m = 945 cl
0,0289 | = 28900 mm?3
73,15 cm3 = 73150 mm3
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